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Note : 1. ‘Part—A’ may be attempted in first
6 pages of Answer-sheet.
GAT—3’ & TN, IOT-YRAHET & BT 6
gs3) T &1 3/

2. ‘Part-B’ may be attempted in rest
of the sheets of Answer-sheet.
GFT—§’ & I, X JRa#T & 1wt vt
war

3.. Answer may be given in Hindi or |
English.

FaY Grddl sreer R 7 ffg

[Part — A]
[fTT—-3]
Attempt any 10 questions.
foRedf 10 oAl &% SR ffad— 2x10 = 20
(i) '~ By which material piston compression

rings are made ?
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JK-BSN-11 @) - : : F’ . (ix) What is the range of compression ratio
Eﬁd?@ﬁp@@ﬂﬂ%mﬂ%w J : | in diesel engine ? |
(i)  What is dryness fraction ? IO SO H RIS ST BT AR (3)
atre foret & o oo ® 0 2
(iii) What do you mean by free air ? (x)  What is pitch point ?
T TR ¥ 1 A 7 g gz T ¥ 2
(iv) Write four application of gantry crane. . (xi) How slip .onoE.m ﬂ belt drive ?
Aty 57 4 o S e | kit R
(xii) What 1is the main = function of
{(v)  Power is the product of ............. . compressor?

(vi) What is the main functions of

%ﬁmﬁﬂaﬂqwﬂ

(xii1) What is the no. of revolution of the

superheater ? crank shaft in four stroke of a spark
FRER F T&A FARTE ? ignition engine ? Write in short.

(vii) At very low temp. at which melting and Wleh SN 397 & TR T 3o A %snmﬂ_,
c_oEmm point of water becomes equal? I & TR B HeAr fobat & 7 WA 7
What is it called ? : - R
T Y — w_ﬂm, T SR - (xiv) CNG and LPG, write ?:. form.

. CNG U1 LPG & qof w&q feikad |

g To RS | < = mm..w 4 v 28 Attempt any five questions :

(viii) Which type of compressors used in Rl dfe Wl @ S Sfdra— 5x4 = 20
turbine § El e (i)  Find the expression for length of a chain
T W TR B2l

in chain drive. -

fopar strar & 2
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(i1)

(iii)

(iv)

(v)

(vi)

4) 800
EET H W I TS w9 i
I |
What are basic difference between open
cycle gas turbine and closed cycle gas
turbine ?
AT H A SR R ?
What is difference between simple screw
jack and compound screw jack ?
R o wwers g S ¥ @ o
%7
Explain about the four strokes of the
engine.
SO % IR T e it |
Write in brief about use of Z.o:mmw
diagram.
R Sramm & SuanT W wdw ¥ fufed
Differentiate involute and cyclodial
profiles of gear teeth.
TR & A B TGS T AEFATS & &
I T HI |
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(5) 800
(vii) Differentiate between internal fired and
external fired boilers. .

SMIR® TeT q el B A SE d
I T B |
(viii) Write working principle of centrifugal

ooEanmme.

e e B o TR T R |

[Part-B]

(-]
Attempt any three questions :
el i ol & S fe—

(a) Explain the methods of governing of

3x20 = 60

Parson's turbine. ,

I | _ k
(b) A reaction turbine has degree of

reaction 50% Qm. Parson's reaction

turbine) and running at 600 rpm

develops 10 MW using 10 kg/kWh of

steam flow rate. The exit angle of the

blades is 18° and the velacity of steam
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(a)

(6) 800

relative to the blade at exit is 1.5 times

‘the mean peripheral speced. At a

particular stage in the expansion, the pr.
is 1.2 bar and steam quality is 90%.
IREA Ruaee @ & Ruwm & Bh
50% % | T8 10kg/kWh & 91T 1 5T ¥ 600
rpm T A BT 10 MW fesiya st &1
=TS I BT T Ui 18° ¥ | et wX wmw
# e sre & s ol R &
1.5 IO & | Bella @Y Uk B9 T IR 1.2 R
Bl & T SHe! OraT 90% ¥ |

Calculate :

TMOAT BT

(i) Blade height (Assume Dm/hb = 12)

=g S8 (AR Dmv/hb = 12)
(ii) _memHmB power

SIIA™ 9T’
Following data of gear and pinion are
m?wn :
TR e Rfva & Frfafed sries soeer
B
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(b)

(7) : _ 800
module = 8mm; pr. angle = 20°, No. of
teeth on gear (T) = 60, No. of teeth on
pinion 3 = 20. If the addenda on the
pinion and gear are equal to 1 module,
find :
qgge = 8mm, YT G = 20°, frew W
grell @t §er (T) = 60, ffaw ov et @
@ (v =20 ¥ 3R R qor fw w
TSI = 1 HEgW & Y, S I -

(i) Path of approach
THeT T T
(ii) Path of recess
el i wreen
(iii) Path of contact
HITeae B TR
(iv) Arc of contact
BT A
(v) No. of pairs of teeth in contact
s ¥ PR BT At & A
Find the expression for the ratio of
tensions in rope drive if angle of groove

on pulley is 2. -
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5. (a)

(8) 800

qedt & g9 @0 HT 2B BN W AT FRT A

FeqTT @ ST Rl o TR hitord |

In a lifting machine, it was found that

_the effert was moved by 300mm to lift a

load by W_HoBB.. This machine is used to
lift a load of 50,000 N, by an effort of
2000N. Determine—
mﬂ@@m&ﬂfm%i 10 forfro @
IS g TH I 300 Frfo ek TaTdT AT |
=9 TS @ 2000N & THE & 50,000N FH
s Sor & ford SwaT forar T | ST i
(i) Velocity ratio of the machine

a6 Rt W
(ii) Mechanical advantage

Aepforeet Teaies
(iii) Efficiency

qgdr
(iv) Ideal effort and

st Twe
(v) Effort lost in friction

e (Te) o = geT THe
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(b) -

(a)

(b)

(a)

(b)

9 : 800
mx?&u working of :
ferfeiee @t @t ma:% ! faemT i
(i) Hydraulic umow

TR S
(i) Hydraulic lift
BT e

Show that centrifugal pump is just

~reverse of fransis turbine.

firg AR 5 IIwTa T wiRE <XEET
& Reda ¥

Explain the construction details and
working of Babcock boiler with
diagram. ,

forr & e daes T R T B
qATEE T T JOnTer b R AR |
Explain working of magneto ignition

system with &mmHmB

foer & @ WA waw_ﬂﬂ nﬂ_mw Gl mﬁn
goTrel @t ferRrET i |
Explain

working of  simple

receprocating compressor with sketch,

%%%&ﬁﬂﬁq&i
=T R e B |

L2




